



$$y = x^{2} + 1 \quad y = 1 \quad x = 3$$

$$Q = x^{2} + 1 \quad y = 1 \quad x = 3$$

$$Q = x^{2} + 1 \quad y = 1 \quad x = 3$$

$$Rect. \quad horizontal = 7 \quad x = 3$$

$$2\pi \int_{1}^{\infty} y \quad (3 - \sqrt{y-1}) \, dy$$

$$2\pi \int_{1}^{\infty} [3y - y\sqrt{y-1}] \, dy$$

$$2\pi \int_{1}^{\infty} [3y \, dy - 2\pi \int_{1}^{\infty} y\sqrt{y-1} \, dy \quad dy = dy$$

$$2\pi \int_{1}^{\infty} [3y \, dy - 2\pi \int_{1}^{\infty} y\sqrt{y-1} \, dy \quad dy = dy$$

$$2\pi \int_{1}^{\infty} [3y \, dy - 2\pi \int_{1}^{\infty} (u+1)u^{1/2} \, dy$$

$$-2\pi \int_{1}^{\infty} (u+1)u^{1/2} \, dy$$

